Alg 1 Bellwork  Friday, Ma))? 2016

Match the graphs to their equations: 7. Graph this quadratic function with
1. y=3x2+5 2. y=-4x*+5 3. y=—4x*-3 at least five points.
4. y=-7x*-3 5 y=x2+5 6.y=10x*+5 y=—4x*+38
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8. Use the letter to place these quadratic equations in order from Narrowest to Widest.

A y=4x2-10x+7 B.y=-9*+x-16 C. y=-1.3x"+8x~12

D. y=x2+34x+11 E. y=-5x*-7

9. A ballis shot upward from the top of a 50 foot tall building with an initial velocity of 176 ft/s.
The following quadratic equation models the height of the object (4) as a function of time (1):
h(f) = =16¢* + 176t + 50

a) How high will the object be in 4 seconds?

b) How high will the object be in 7 seconds?

c) Explain how your answers to parts a and b are possible.

d) When does the object reach its maximum height?

e) What is the objects maximum height?
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8. Use the letter to place these quadratic equations in order from Narrowest to Widest.
Ay =4x2—10x+7 Bry=-92+x-16 _Cy=-1.3x?+8x—12
D. y=x*+34x+11 /Ewy=—5x2—7 __P)' E', A"C, D
/ / ‘ /
9. A ball is shot upward from the top of a 50 foot tall building with an initial velocity of 176 ft/s.
The following quadratic equation models the height of the object (#) as a function of time (¢):
—-16¢% + 176t + 50 ;
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a) How high will the object be in 4 seconds? 198 ‘ﬁ‘")

W= -lM> +176(H) £50

b) How high will the object be in 7 seconds?
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c) Explain how your answers to parts a and b are possible.
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d) When does the object reach its maximum height?
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e) What is the objects maximum height?
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